


θ

��������	
 ���
� � � � � ��
���������������������� �

� � ��� �

�	����

�

���
 � � � �
������ � �� ���� ��� � �� 0a > ��

�

���� ( ) 0f c = � !�"�� f �#$�%#&&�"�'�#()*��+'�('�+,�'�#'��"-(*�.+'�(#'#'/�

c ����!�'0��+�(,,"+1#2 (��� c 0�3$���!��&+**+ #'/�$��,$��
����������������������������������������������������������������������������������������� a ���������������u �

�� 4+"�#'��/"(*$�#'-+*-#'/�
2 2a u− 0������������������������������������������������

*��� sinu a θ= ���������� ��������������������������������������������� 2 2a u− �

���������������������������������������������������������������

����������������������������������������������������������������������������� 2 2a u+ �

�� 4+"�#'��/"(*$�#'-+*-#'/�
2 2a u+ 0�����������������������������������������������u �

*��� tanu a θ= ������������������������������������������������������������a �

����������������������������������������������������

��������������������������������������������������������������������������������u �

5 � 4+"�#'��/"(*$�#'-+*-#'/�
2 2u a− 0������������������������������������� 2 2u a− ��

*��� secu a θ= ������������������������������������������������������������a �

�����������!�'�
2 2 tan ,u a a θ− = ± � !�"��0 2

πθ≤ < �+"� .
2
π θ π< ≤ �� $���

������������!��,+$#�#-��-(*3��#&�u a> �('%��!��'�/(�#-��-(*3��#&�u a< − ��

�

�� 4#'%��!��#'��/"(*��

(� � ( )3 221

t
dt

t−
� �

�

�

�

�

�

�

�

�

�



)� 2

1

9
dx

x −� �

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

.� 

2

4

4 9x
dx

x
+

� ��

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



%� 
21x xe e dx−� �

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�� 

3

4 2

1
2 1

x x
dx

x x
+ +

+ +� �

�

�

�

�

�

�

�

�

�

�

�

�


